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K 1.225
/X 2.30
f 315
X 475

Question ID : 27522847

Ans

Q.8 B, 9 fp.dt./ae &t fd A Terar & 9UT ISP ARH 1 & 9 U & UYTd, C U= Agfpd

18 f 1t /6 Ft fy ¥ IuF N FMperar 81 smfie fag A fra g W ¢, B Hl U

am?
1. 162 B
75 2. 144 T
/X 3. 198 &5 o,
/< 4.236 fm .
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Q.9 168, 234, 286, 112 dYUT 280 BT 3 Td HT 8?2
Ans X" 1.206

o 2216

75 3.210
X 4.220

Question ID : 27522846 ]

Q.10 giEP:Q=3:28, A (P+Q): (P-Q) FTAF AT 8?

Ans X" 1.4:5
X 2.6:1
X 3.4:1
o 451

Question ID : 27522850 ]

Q1 3700 -24%x12+17x5=34
2500 -625 +22 - 5x40

& AT T 57

Ans
136
1. ARG
< =

247
24
247
124

157
4, s
x 12

v &)

< 3

Question ID : 27522844 ]

Q.12 gfg 1N3N TP IR 3] P H@T 2 aUT Y 11 A AU N @, AN SFTAA AT R?
Ans X 1.0

W22

X 39

X 45
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Q.13 3200 TYUT 1250 F TYAH THATITH HT AYT HgWH WAMITAD BT UFHA FT 82
Ans "1 21 x 52

/X 2.25x 58
75 3.28x 54
of 428 x55

Question ID : 27522843 ]

Q.14 g& T &1 gEig &% d 5544 9.2 31 A 3T 3 T gRA?
Ans J 1. 4294

X 22195
75 3289
/X 4359

Question ID : 27522856 ]

Q.15 gfg A 1 87.5 Ufa=Id = 714 §, a1 A & 37.5 UfA=Id &1 {1 182
Ans X" 1312

75 2.300

/X 3.302

of 4. 306

Question ID : 27522848 ]

Q.16 fayferad & ¥ S 91 vy T 82

1. fE TP 19 $t T YRT & SHA a4l URT & Ufapa HHRT: 12 f5.#7 mer qur 6 {65/
HeT ®, ) fRR &a # 19 &1 71fa 9 fb.Hder 21

II. T YISt 1 TS 1200 Hiex 21 afe 98 Uer fRR W &Y 10 AHUs A UR & AHdl
?, A YISt B e 43.2 B e 21

Ans O 1 gt iATE
X 2. Fad |l
25 3. 1aur g
o 4 Fad

Question ID : 27522854 ]

Q17 U oG BT 25 Ufa=Td & g1 TR 3000 TUA & ST 14T B 1 15 UiA=Tad @1y WIed 34 & 1w
fasra gea w1 BT Afge?
Ans X" 1.4400
/5 2.5000
75 3.4100

o 4. 4600
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Q.18 0.1 % 0.02 — 0.01 x 0.04 T HIF T &2
Ans X" 1.0.0002

75 2.0.002
o 3.0.0016
/X 4.0.016

Question ID : 27522841

Q.19 3} faT a1 SR 9T 8 g A Sl B TS B g=Afar |

780
] 720 700

460
340 350

900

400

51 82 83 54 55 56

57

58

T = S2, S4 YT S5 ® Sdl @t I T=AT
R + T 1 W &1 82

Ans  of 1600

/X 2.540
/< 3.480
X 4.720

R= ssaﬁ?seﬁwﬁhaﬂwmamm 3R s8 B @l # Ho TS & qH FT e

Question ID : 27522859

ST IP- dTell Jad dH DSl P TS T RI?
Ans X" 1 559

of 2 45T
/X 3.60 9.
/< 4359

Q.20 TP TATY B TIETS NSTS aUT FHarg v 30 /.41, 30 A48 qur 15 .. 31 gy A Tt
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Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

In the Mahabharata, even a distinguished (1)/ warrior like Arjuna became depressed
(2)/ at the very thought of waging war (3)/. No error (4)

Ans X" 1. atthe very thought of waging war

J 2. No error

x 3. warrior like Arjuna became depressed

X 4. In the Mahabharata, even a distinguished

Question ID : 27522862 ]

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

The Indian team is expected to be selected on the end of this month.
Ans x 1. No Improvement

XZ.to
“3. by
75 4.in

Question ID : 27522863 ]

Q.3 Choose the word that can substitute the given sentence.

A collection of poems
Ans X" 1_Ethology

X 2. Palaeology
x 3. Entomology
J 4. Anthology

Question ID : 27522875 ]

Q.4 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

To upset the apple cart
Ans “ 1. To throw all plans in confusion

X 2. To harass somebody
x 3. A clumsy person

x 4. To be extremely enthusiastic over

Question ID : 27522874 ]

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021199/1258021199S17D870/16260088774702290/1211...  17/77


https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258O21199/1258O21199S17D870/1626008877470%E2%80%A6
https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258O21199/1258O21199S17D870/16260088774702290/1211%E2%80%A6
https://t.me/DSSSBTEACHERS1

7/15/2021 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021199/1258021199S17D870/1626008877470...

Q.5 A sentence has been given with a blank to be filled with an appropriate word/words.
Choose the correct alternative.

people face many issues with the advancement of technology.
Ans " 1. Anold

o 2. Older
/X 3.00d
#< 4. Oldest

Question ID : 27522866

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

The comfort the youngsters share with him will be an addition advantage.
Ans  of 1 added

75 2. additional

X 3. bonus

x 4. No Improvement

Question ID : 27522864

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

Learning to identify birds (1)/ by their songs is so(2)/ much fun as spotting them by
sight (3)/.No error(4)

Ans « 1. by their songs is so

x 2. Learning to identify birds

X 3. No error

x 4. much fun as spotting them by sight

Question ID : 27522861

Q.8 Rearrange the parts of the sentence in the correct order.

P: the Reformation and the ensuing wars of religion through

Q: based on contemporary political events

R: gave rise to many propagandistic and patriotic strips

S: the 17th century, particularly in Protestant Germany and the Netherlands,

Ans " 1. PRSQ

o 2.PsrRQ

75 3.QRPS

#< 4.QRSP

Question ID : 27522868
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Q.9 Choose the word that means the same as the given word.

Precious
Ans X 1. Necessary

/X 2.simple
X 3. Waste
J 4. Valuable

Question ID : 27522869

Q.10 In the given question, four words are given out of which one word is incorrectly spelt.
Choose the incorrectly spelt word.

Ans X 1. Concussion
J 2. Tampoline
X 3. Creation
x 4. Mistaken

Question ID : 27522872

Q.11 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

A bed of thorns
Ans X" 1. Unexpected misfortune

x 2. To rain heavily
J 3. A very uncomfortable situation

X 4. To weep heavily, suddenly

Question ID : 27522873 ]
Q.12 Rearrange the parts of the sentence in correct order.
Two species
P: Coffea Arabica and
Q: C. canephora, supply almost
R: of the coffee plant,
S: all of the world’s consumption
Ans X 1. QPRS
75 2.QPSR
/X 3.RPSQ
o 4. RPQS
Question ID : 27522867 ]
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Q.13 Choose the word that is opposite in meaning to the given word.

Ascend
Ans X 1. Infamy

J 2. Plunge
X 3. Incline

x 4. Upthurst

Question ID : 27522870

Q.14 In the given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans x 1. Retantion
J 2. Retention
X 3. Reetention

x 4. Reteention

Question ID : 27522871

Q.15 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

He was sorry for his with the lady.
Ans x 1. freak

x 2. fortune

J 3. misconduct
X 4. miscreant

Question ID : 27522865 ]
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Comprehension:
Read the following information carefully and answer the given questions.

Bioluminescence, emission of light by an organism or by a laboratory biochemical system
derived from an organism. It could be the ghostly glow of bacteria on decaying meat or fish,
the shimmering radiance of protozoans in tropical seas, or the flickering signals of fireflies.
The phenomenon occurs sporadically in a wide range of protists and animals, from bacteria
and fungi to insects, marine invertebrates, and fish, but it is not known to exist naturally in true
plants or in amphibians, reptiles, birds, or mammals.

Bioluminescence results from a chemical reaction (chemiluminescence) in which the
conversion of chemical energy to radiant energy is direct and virtually 100 percent efficient;
i.e., very little heat is given off in the process. For that reason, the emission is called cold light
or luminescence.

The functional role of bioluminescence in lower organisms such as bacteria, dinoflagellates,
and fungi is difficult to discern. Partly because the glow of luminous bacteria is extinguished
when oxygen is removed, it has been suggested that the bioluminescent reaction was
originally used to remove oxygen toxic to primitive types of bacteria that developed when
oxygen was absent or very rare in Earth’s atmosphere. The metabolic reaction that combines
the oxygen with a reducing substance (luciferin) liberates sufficient energy to excite a
molecule in the organism to emit visible radiation. Most of those luminous primitive organisms
subsequently developed systems of using oxygen, but they have retained the luminescent
capability as parts of related metabolic pathways or for some survival value that luminescence
may confer on the organism.

SubQuestion No : 16
Q.16 What can be the suitable title for the passage?

Ans x 1. Role of bioluminescence
75 2. Why Bioluminescence?
x 3. Organisms and their light

\_f" 4. What is Bioluminescence?

l Question ID : 27522877
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Comprehension:
Read the following information carefully and answer the given questions.

Bioluminescence, emission of light by an organism or by a laboratory biochemical system
derived from an organism. It could be the ghostly glow of bacteria on decaying meat or fish,
the shimmering radiance of protozoans in tropical seas, or the flickering signals of fireflies.
The phenomenon occurs sporadically in a wide range of protists and animals, from bacteria
and fungi to insects, marine invertebrates, and fish, but it is not known to exist naturally in true
plants or in amphibians, reptiles, birds, or mammals.

Bioluminescence results from a chemical reaction (chemiluminescence) in which the
conversion of chemical energy to radiant energy is direct and virtually 100 percent efficient;
i.e., very little heat is given off in the process. For that reason, the emission is called cold light
or luminescence.

The functional role of bioluminescence in lower organisms such as bacteria, dinoflagellates,
and fungi is difficult to discern. Partly because the glow of luminous bacteria is extinguished
when oxygen is removed, it has been suggested that the bioluminescent reaction was
originally used to remove oxygen toxic to primitive types of bacteria that developed when
oxygen was absent or very rare in Earth’s atmosphere. The metabolic reaction that combines
the oxygen with a reducing substance (luciferin) liberates sufficient energy to excite a
molecule in the organism to emit visible radiation. Most of those luminous primitive organisms
subsequently developed systems of using oxygen, but they have retained the luminescent
capability as parts of related metabolic pathways or for some survival value that luminescence
may confer on the organism.

SubQuestion No : 17

Q.17 In which living entity, the bioluminescence is not known to exist?
Ans x 1. Bacteria

o 2. Birds
x 3. Fungi
75 4.Fish

l Question ID : 27522880
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Comprehension:
Read the following information carefully and answer the given questions.

Bioluminescence, emission of light by an organism or by a laboratory biochemical system
derived from an organism. It could be the ghostly glow of bacteria on decaying meat or fish,
the shimmering radiance of protozoans in tropical seas, or the flickering signals of fireflies.
The phenomenon occurs sporadically in a wide range of protists and animals, from bacteria
and fungi to insects, marine invertebrates, and fish, but it is not known to exist naturally in true
plants or in amphibians, reptiles, birds, or mammals.

Bioluminescence results from a chemical reaction (chemiluminescence) in which the
conversion of chemical energy to radiant energy is direct and virtually 100 percent efficient;
i.e., very little heat is given off in the process. For that reason, the emission is called cold light
or luminescence.

The functional role of bioluminescence in lower organisms such as bacteria, dinoflagellates,
and fungi is difficult to discern. Partly because the glow of luminous bacteria is extinguished
when oxygen is removed, it has been suggested that the bioluminescent reaction was
originally used to remove oxygen toxic to primitive types of bacteria that developed when
oxygen was absent or very rare in Earth’s atmosphere. The metabolic reaction that combines
the oxygen with a reducing substance (luciferin) liberates sufficient energy to excite a
molecule in the organism to emit visible radiation. Most of those luminous primitive organisms
subsequently developed systems of using oxygen, but they have retained the luminescent
capability as parts of related metabolic pathways or for some survival value that luminescence
may confer on the organism.

SubQuestion No : 18

Q.18 Why the functional role of bioluminescence in lower organisms is difficult to
recognize?

Ans x 1. Their luminescent capability wears off in the presence of oxygen.
x 2. Bacteria couldn’t find the sufficient energy in the absence of oxygen.
x 3. When oxygen is removed the bacteria is 17unable to survive.

\f 4. The glow of bacteria blows out as soon as the oxygen isremoved.

[ Question ID : 27522878
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Q.19
Ans

Comprehension:
Read the following information carefully and answer the given questions.

Bioluminescence, emission of light by an organism or by a laboratory biochemical system
derived from an organism. It could be the ghostly glow of bacteria on decaying meat or fish,
the shimmering radiance of protozoans in tropical seas, or the flickering signals of fireflies.
The phenomenon occurs sporadically in a wide range of protists and animals, from bacteria
and fungi to insects, marine invertebrates, and fish, but it is not known to exist naturally in true
plants or in amphibians, reptiles, birds, or mammals.

Bioluminescence results from a chemical reaction (chemiluminescence) in which the
conversion of chemical energy to radiant energy is direct and virtually 100 percent efficient;
i.e., very little heat is given off in the process. For that reason, the emission is called cold light
or luminescence.

The functional role of bioluminescence in lower organisms such as bacteria, dinoflagellates,
and fungi is difficult to discern. Partly because the glow of luminous bacteria is extinguished
when oxygen is removed, it has been suggested that the bioluminescent reaction was
originally used to remove oxygen toxic to primitive types of bacteria that developed when
oxygen was absent or very rare in Earth’s atmosphere. The metabolic reaction that combines
the oxygen with a reducing substance (luciferin) liberates sufficient energy to excite a
molecule in the organism to emit visible radiation. Most of those luminous primitive organisms
subsequently developed systems of using oxygen, but they have retained the luminescent
capability as parts of related metabolic pathways or for some survival value that luminescence
may confer on the organism.

SubQuestion No : 19
Which process is responsible for the emission of bioluminescence?

x 1. Conversion of radiant energy to chemical energy directly and virtually.

K 2. Conversion of chemical energy to radiant energy indirectly with a lots of heat
release.

x 3. Conversion of radiant energy to chemical energy indirectly with a little heat release.

\"'4. Conversion of chemical energy to radiant energy-directly:with a release.of a very
little heat.

Question ID

1 27522881
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Comprehension:
Read the following information carefully and answer the given questions.

Bioluminescence, emission of light by an organism or by a laboratory biochemical system
derived from an organism. It could be the ghostly glow of bacteria on decaying meat or fish,
the shimmering radiance of protozoans in tropical seas, or the flickering signals of fireflies.
The phenomenon occurs sporadically in a wide range of protists and animals, from bacteria
and fungi to insects, marine invertebrates, and fish, but it is not known to exist naturally in true
plants or in amphibians, reptiles, birds, or mammals.

Bioluminescence results from a chemical reaction (chemiluminescence) in which the
conversion of chemical energy to radiant energy is direct and virtually 100 percent efficient;
i.e., very little heat is given off in the process. For that reason, the emission is called cold light
or luminescence.

The functional role of bioluminescence in lower organisms such as bacteria, dinoflagellates,
and fungi is difficult to discern. Partly because the glow of luminous bacteria is extinguished
when oxygen is removed, it has been suggested that the bioluminescent reaction was
originally used to remove oxygen toxic to primitive types of bacteria that developed when
oxygen was absent or very rare in Earth’s atmosphere. The metabolic reaction that combines
the oxygen with a reducing substance (luciferin) liberates sufficient energy to excite a
molecule in the organism to emit visible radiation. Most of those luminous primitive organisms
subsequently developed systems of using oxygen, but they have retained the luminescent
capability as parts of related metabolic pathways or for some survival value that luminescence
may confer on the organism.

SubQuestion No : 20

Q.20 Which of the following words best expresses the true meaning of the word ‘confer’?
Ans x 1. Refuse

#< 2. withhold
« 3. Consult
75 4. Hold

l Question ID : 27522879

Section : General Hindi

Q1 fFyfafed gl § ¥ WRa 91 Jid Sif|
Ans X" 1§ 7 U SRl gl & SR T W™ H BRIl

of 2. U SR g SR I A U A H RO A
/< 3. 9= A TP H IR < Rl T U R T T
/X 4.5 8 I A U SR gl < 99 g U T H IR0t

Question ID : 27522892

Q2 e #) A & FF 9 FRF 82
Ans «1_;11;—@:[

X 2.5

/X 3.l

75 4. 3UEH
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Question ID : 27522886

Q5 fou 7T are § Iuga favm g &1 994 Pk

98 $I W [P ¢ S TUP) 95 TS &
Ans 1.2
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Question ID : 27522893

Q.6 oY Y e T BT HE g T W1 BT
875 H : 3feH
Ans " 1. T SR
75 2. 3FPR W
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o 4. 3EFR : Agaqyl

Question ID : 27522888

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021199/1258021199S17D870/16260088774702290/1211...

26/77


https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258O21199/1258O21199S17D870/1626008877470%E2%80%A6
https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258O21199/1258O21199S17D870/16260088774702290/1211%E2%80%A6
https://t.me/DSSSBTEACHERS1

7/15/2021 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021199/1258021199S17D870/1626008877470...

Q.7 faw Y I ® Iy favm fag &1 99 S|
W sreamfieT A divs frar gan g1
Ans X1W
X 2. 99%
o 3. ama
X 4 Fd=e

Question ID : 27522894 ]
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Question ID : 27522885 ]
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Ans 1. @
X 2ge
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K aTd
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Q.13 fyeTe FT wiferT g2
Ans & 1 faca

X 2. foadt

o 3 et

725 4 focht

Question ID : 27522889 ]

Q.14 fmfafay are & | Y I &1 99 BIkm|
Ans X' 1,98 Y& H dSU G o

X 2. @ yEH ISR

X 3. A @A dSU IR

4 @I TSURR
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Comprehension:

TS T T T B 1 T 3 SIYR WR Uie uy 3T T § | T &Y eHyde U Ul Udd Uy
T 9R fdwed! & 4 98! fawed T

TR IV H 3% wifed THTNE § o A & AT & a1y I el ¢ | e g oft 3w
DI 1 Sfed guwrel § ¥ Ue g1 Syl fay & 919 & gy WRd Jaw 31 STRReAT are 3%
B1 URg org T ¥ AR <1 Y SRS 96 I8 7, a1 ot @R e o9 AR O B SHeRe 9
Y ot oifirep B S| AR SFRRe g 1 &R b1 g1 SFIHIA I S Hebll & fob et
I 3 TYTq {1 U SRH! A T§ 33 HRIS A 100 RIS &3S Bl UR IR T8 ¢ S H
SERET gfg & 3] BRUI S| 3T HfaRad e, sifren, wfearfear qut Jeif faar o
TR Jfes & THE HRUI G | SR B F10-[9aTe & IRURT UeH o1a 9 2R, s weaey o
S B gf s At Rien &1 sru1g ot Sie 3fE a1 Ue uge SR8 | 3 B See 3fe
DT TERT 3T 3 HaTag R T § T Heaey ¥ &1 3F UHR Bl HiSAIsal o
AT S US 381 8| o H Iudey G 1 o1 & SR il g1 o1 gk a8 §
% Tadzrar & Ut g a1g ot AU 40 UfoRTd SRR TS X1 & e shae-am w1 @ 7
3 TN BT 37U 31T Wifde savadarett a1 g & fog ff Tad s Us g S H agd
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SubQuestion No : 16
Q.16 FUR A P e T FT ], S A F Awa A ooty Ius Hdl 372
Ans  of 1 STEET
X 2. e
X 3. e
X 4 gy

[ Question ID : 27522898

Comprehension:
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T g & T RO | % B F19-f3aTg Bt Ry Ui 1 2R, o wewaey of
e o gfg gS ot e @1 srvra of SeRe 9fE &1 U T SR E | 3% B S gfg
DI GHT 3T fcdd HaTag fRUT § g e heasy o= 31 3 USR B Hio-1al B

I FHRAT U @1 8 | o= B IJuers JATe 1 Jo B SRS e g1 BT SR I8 §
% Tadzrar & ufa g a1g o AU 40 UfRTd SRR TS X1 & i shad-ard w1 @ 7
S AN Y 3T 3T Hifdes sraxasdrsit @t g & forg off Tud BT Ug TR W H S A
T HUIV & RABR & ORI STH T S [ehelT ¢ b Ueob WRI HRA B URDH AT Bl ATHR
&Y AT e gsh BT B

SubQuestion No : 17
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Comprehension:

TS T T T B 1 T 3 SUR WR Uie Uy 3T MY § | i &Y eyde U Ul Udd Uy
T 9R fdwed! & 4 98! faded T

TR IV H 3% wifed TR § o 3 & AT & a1y I el ¢ | e i oft 3w
DI 1 Sfed guwrel # ¥ Ue g1 Syl fay § 919 & vy WRd Ja¥ 31 STRReAT arat 3%
B1 URg org T | AR <1 Y SRS 96 I8 7, a1 ol ¥ e 99 AR O B1 SHeRe 9
Y ot oifirep € S| AR SFRRe i 1 &R b1 g1 SFIHI I S el & fob et
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SRS gfg & 3] BRUI S| 3T AfaRad e, sifren, wfearfear qut Jeivf faar ofe
TR Jfes & THE BRU G | <% B F10-[3aTe & IRuRT UeH o1 9 2R, s wewaey o
S B gf gs At Rien &1 g o Seie 3fE a1 Ue ugE SRS | 3% H Seee 3fa
DY TERT 3T 3 HaTag R T § I Heaey ¥ &1 3Fd UHR Bl HiS1sal o
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Y T a1 gsehR T B

SubQuestion No : 18
Q.18 fHHST AT TR Jies: FT W HRUT T T 32

Ans X1§;ch'qm
X 2. EEd
X 3@
o 4. sifen

[ Question ID : 275228101

Comprehension:

TS TR T T B | TR & YR R Ure Uy AU T | TR Bl AYde ue auT YA Uy
T 9R fowed! & § 9@l fddwed g1

TR 3 H 3% Sifed THNE § Ol a1 & fAb & Saxiy Iadd HRel ¢ | S i 4t anr
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31 URg o 71T ¥ GHR &1 &1 SERST 9G Vol §, a1 o HI X T6] o8 AR oM B1 SEe a1
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TR 3 & 3D HRUIE | $HD ifafad Felwan, sif¥ien, Sfearfedr aur datf faar snfe
T g & T RO | ST B F19-f3aTg Bt Ry Ui 1 2R, o wewaey of
SAee o gfg gS ot e @1 srvra of SeiRe 9fS &1 U T SR E | 3% B S gfg
B GH TS fcdd HaTag fRUT § § e heasy o= $1 3 USR B Hio-1Ral B

I FHRAT U @1 8 | o0 H IJuers JATe 1 Jo1 B SHRReAT ¥ g1 T SR I8 §
% Tadzrar & ufa g a1g o AU 40 Ufe=Td SRR TS a1 & i shad-ar w1 @ 7
S AN Y ST 3T Hifdes aRasdrsit @t g & forg ot Tud BT Ug T B W H Sga A
T HUIV & RABR & ORI STH T S [ehell § b Uoh WY HR B URDH AT Bl ATHR
&Y AT b1 gsh BT B
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Comprehension:

TS T T T B 1 T 3 SIUR WR Ui Uy 3T MY § | T &Y eHyde U Ul Udd Uy
T 9R fdwed! & 4 98! fawed T

TR IV H 3% wifed TR § o A & AT & a1y I el ¢ | e i oft 3w
DI 1 Sfed guwrel § ¥ Ue 31 Syl fay H 919 & uy WRd Ja¥ 31 STRReAT ara 3%
B URg forg T ¥ AR <1 Y SRS 96 I8 5, a1 ol ¥ e o9 AR O B SHeRe 9
3 2t 31fip 81 STl | SRR SRIe i 1 &R 1 S Y SFFHM T S Wbl § b et
I 3 TYTq HTH UTd SRbh! A T§ 33 HRIS A 100 RIS P 3dhs Bl UR IR T8 ¢ S H

T 3 & D BRI E | 5T tfafad Fedan, sifien, wfearfedr aur gef faar snfe
ST gfs & THE BRI G | <R H S1A-faaTg & IR U= $1a 9 o, s ewawy
Wﬁg@gﬁaﬁl%&nms{%mmq@mwmwm%l 3 H S i
DY TERT 3T 31 HaTag R T § I Beaey ¥ &l 3F® UHR Bl Hid1sal o
AT S US 381 8 | o H Iudey JQ11 &1 o1 & SR il g1 o1 g a8 §
% Tadzrar & Ut g a1g ot AU 40 UfoRTd SRR TS a1 & e Shae-am wR @ 7
3 AT BT 37U 31T Wifde snaRadharett a1 g & forg ff Tad s Us g S H agd
¥ HUNU & RIGR & TR S0 T S 9hell § [ U WRI URA &1 URG O BT WIHR
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SubQuestion No : 20
Q.20 fepdt yfarerd SR TRid) @1 & - Sia=-a19 &3 8 82

Ans X150
W 240
X 3.30
X 4.60

[ Question ID : 275228100

Section : Discipline1

Q.1 Which component of the computer is used to resolve the difference between CPU and
the peripheral device?

Ans x 1. Memory unit
75 2. Arithmetic Logic Unit
x 3. Control unit

« 4. Interface unit

Question ID : 275228104

Q.2 What is the 2's complement of (-28)4¢ in 16 bit representation?
Ans  of 1.1111111111100100

/5 2. 1111111111100101
75 3.1111111111100011

75 4.1000000000011100

Question ID : 275228115
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Q.3 Which one of these is not a condition for Resource Deadlock?
Ans X" 1. Hold-and-wait

x 2. Non-sharable resources

x 3. Circular waits

« 4. Preemption

Question ID : 275228121

Q.4 When n bits are used to represent an operation (op) code, then how many different
operations a computer can perform?

Ans « 1. 2" operations
X 2. n operations
x 3. 2/n operations

x 4.2 x n operations

Question ID : 275228112

Q.5 What is the function of data input command in I/0 command?

Ans X 1. Activate the peripheral and to inform it what to do
x 2. To check status conditions in the interface and the peripheral
« 3. It cause the interface to respond by transferring-data fromone of its register torbus

x 4. It cause the interface to respond by transferring data from bus into one of its
registers

Question ID : 275228105

Q.6 Match the following.

1 | Disk scheduling 1 | Shortest Job First

CPU scheduling ii | Banker’s Algorithm

2
3 | Page replacement iii | Shortest Seek Time
4 | Deadlock iv | Least Recently Used

Ans o 1 i 20 3—iv, 4—ii

K 2.1—iv, 21, 3—ii, 4 —iii
< 3.1 —iil, 2 —iv, 3—i, 4 — i
K410, 2—iv, 3—ii, 4 —iii

Question ID : 275228122
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Q.7 What is Throughput in process scheduling?

Ans x 1. Time required to complete a process
x 2. Time required by a process to respond
x 3. Time required to abort a process

J 4. Number of processes completed per unit time

Question ID : 275228119 ]
Q.8 What is the value of product of (10110), and (10011),?
Ans " 1.(110100100),
/5 2.(110110101),
75 3.(110100001),
o 4.(110100010),
Question ID : 275228113 ]

Q.9 What is the function of the program counter register?

Ans x 1. It holds the address of previous instruction
x 2. It holds the address of current instruction.
J 3. It holds the address of next instruction

x 4. It holds the operand address

Question ID : 275228103

Q.10 (3564)g + (323232), BT HIH T 82
Ans X" 1. (1E62)¢g

o 2.(1662)4

75 3.(1562)16

75 4.(1762)46

Question ID : 275228114 ]

Q.11 When Bus Grant (BG) = 1 in direct memory access (DMA) transfer, then what function
read line and write lines perform?

Ans J 1. Read line and write line act as output lines from DMA controller

x 2. Read line act as input line and write line act as output line from DMA

x 3. Read line and write line act as input line allowing CPU to communicate with internal
DMA register

x 4. Read line act as output line and write line act as input line from DMA controller

Question ID : 275228106 ]
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Q.12 Which component of computer act as nervous system?
Ans x 1. Input unit

#< 2. Arithmetic Logic Unit
J 3. Control unit
x 4. Storage unit

Question ID : 275228110 ]
Q.13 How many 16 K x 1 bit RAM chips are needed to provide a memory capacity of 128 K x
1 byte?
Ans " 1.8
/K< 2.128
X 3.32

of 464

Question ID : 275228108 ]

Q.14 Which translator is used to convert assembly language to machine language?
Ans x 1. Interpreter

x 2. Compiler
J 3. Assembler

75 4. Linker

Question ID : 275228111

== =
Q.15 Information about each process in operating system is maintained by

Ans X" 1. scheduler
J 2. process control block
x 3. Program Counter

x 4. Central Processing Unit

Question ID : 275228117 ]

Q.16 Which of the following is a function of an operating system?

|. Memory allocation
Il. Resource utilization

Ans " 1. Only|

75 2. Neither I nor Il

75 3.0nly Il

o 4. Bothland I

Question ID : 275228120 ]
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Q.17 What is minuend value in the following?
subtract (011100), from (1011100),?
Ans  of 1 (1011100),
75 2. (111000),
/5 3.(100100),
75 4.(100101),

Question ID : 275228109

Q.18 Match the following.

i. | Batch Processing System | A | Meeting time constraint
ii. | Multi programming B | Good response time
iii. | Time sharing C | Resource utilization
iv | Real time D | CPUidle time
Ans X" 1.i-D,ii—A,iii,B,iv—C
75 2.i-B,ii—C,iii, D, iv- A
o 3.i-D,i—C,ii,B, iV-A
75 4.i-Aii-B,ii,C,iv-D
[ Question ID : 275228118

Q.19 Arrange the following memory units in descending order.

Gigabyte, Megabyte, Exabyte, Zettabyte, Petabyte, Yottabyte
Ans x 1. Zettabyte, Yottabyte, Petabyte, Exabyte, Megabyte, Gigabyte

x 2. Yottabyte, Exabyte, Petabyte, Zettabyte, Gigabyte, Megabyte
x 3. Zettabyte, Petabyte, Yottabyte, Exabyte, Gigabyte, Megabyte

« 4. Yottabyte, Zettabyte, Exabyte, Petabyte, Gigabyte, Megabyte

Question ID : 275228107

Q.20 What is 6’s complement of (1543); of the computer?
Ans X" 1 (5132),

o 2.(5123),
75 3.(5432);
/X 4.(6132);

Question ID : 275228116

Section : Discipline2
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Q.1 The binary equivalent of (25.625)19is ___
Ans X" 1.(11011.100),

o 2. (11001.101),

75 3.(11101.001),

75 4.(10001.11),

Question ID : 275228137

Q.2 (4589),, P! TSI} BISS SHAT TBT H TUTRIT B2
Ans X" 1.0100011010001001

#< 2.1011001000100100

7< 3.1001011000100100

J 4.0100010110001001

Question ID : 275228131

Q.3 In a disk system with 100 cylinders, the request to access the cylinder occur in
following sequence: 34, 4,7, 19, 10, 83, 2, 6, 20, 15
Assuming that the head is currently at cylinder 50, then what is the time taken to
satisfy all requests if it takes 1 second to move from one cylinder to another?
(Shortest seek time first policy is used)

Ans X 1. 109 seconds
J 2. 129 seconds
X 3. 139 seconds

x 4. 119 seconds

Question ID : 275228127

U v av wfée # Y F 33eqe @ E2

IL.BC+AC
H_(A+C)[E+E)

A
B

EE——
Ans X 1. %ad
o 2. 1 qurn A
Koz gAg
X 4. Fadl

Question ID : 275228141
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Q.5 Which of the following statement is true about semaphore?

I. It can be Implemented using software
Il. It can be Implemented using hardware

Ans & 1 Only I

75 2. only|

o 3.Both land I

#< 4. Neither I nor Il

Question ID : 275228123 ]

Q.6 What is the correct answer of the given statements in the given order?

I. Gate in which output of logical gate is high when all inputs are high is
Il. Half of byte is known as
lll. A flip-flop whose output follows the input when triggered is

Ans " 1. NAND gate, bit, T — flip-flop

75 2. NOR gate, byte, S — R flip-flop
/5 3. OR gate, nibble, T — flip-flop

J 4. AND gate, nibble, D — flip-flop

Question ID : 275228139 ]

Q.7 Which logical gate is known as Universal gate?
Ans X" 1 Ex-OR

o 2. NAND
/X 3.NOT
75 4.AND

Question ID : 275228129

Q.8 Gray code representation of (27)4¢ is
Ans & 111010

75 2.11100
/5 3. 11011
o 4. 10110

Question ID : 275228140

Q.9 What is the full form of DCTL in logic family?
Ans J 1. Direct — coupled transistor logic

x 2. Diode — coupled transistor logic
x 3. Direct — circuit threshold logic

x 4. Direct — circuit transistor logic

Question ID : 275228132 ]
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Q.10 In the given sequential circuit if the initial value of Q1Qq = 00, then what are the next
three values of Q1Qy?

Clock

Q, Q

Ans " 1.10, 00, 01

/< 2.11,10,00
75 3.10, 11,01
o 411,10, 01

Question ID : 275228142 ]

Q.11 Which of the logic equation is the represented canonical sum of product form for the
given K-Map?

AB
cD 00 01 11 10

00 1 1

01 1 1

11 1

10

Ans ——

X 1. ABCD+ABCD+ABCD + ABCDXABCD
v 2 ABCD+ABCD +ABCD+ABCD + ABCD
/< 3 ABCD+ABCD+ABCD+ABCD+ABCD

X 4 ABCD+ABCD+ABCD+ABCD+ABCD

Question ID : 275228136 ]

Q.12 Consider a main memory with 3 page frames in the following sequence of page
reference 3, 4, 2, 3,9, 1, 6, 3, 4, 9. What is the number of page fault using FIFO page
replacement algorithm?

Ans o' 1 9
X 2.10
K37
X oas

Question ID : 275228125
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Q.13 A logic circuit that accepts one input and distributes it over several output is known as

Ans J 1. demultiplexer
x 2. multiplexer
25 3. flip flop
x 4. encoder

Question ID : 275228135 ]

Q.14 A product of sum (POS) form of logic function consist of only while a sum of
product (SOP) form of logic function consist of only

Ans J 1. maxterms; miniterms
x 2. maxterms; maxterms
x 3. miniterms; maxterms

x 4. miniterms; minitersm

Question ID : 275228133 ]

Q.15 What is the relation between N select inputs and M inputs lines in a multiplexer?
Ans x 1.2N=M

K 2.2M=N
W 32N=nm
X 4.2M=N

Question ID : 275228138 ]

Q.16 How many rows are there in a truth table having 'n' variables?

Ans x 1.n2

Question ID : 275228130

Q.17 The Boolean expression

AB+AC+BC =

Ans X 1. AC+AB

v 2 AB+AC
75 3.AB
K4 AB+AC

Question ID : 275228128
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Q.18 Which one of the following is not a condition for process state transition from running
state to wait state?

Ans x 1. If a process waits for some action performed by another process

( 2. If a lower priority process arrived
x 3. If a process request an Input/Output operation

X 4. If a higher priority process arrived

Question ID : 275228126 ]

Q.19 A decimal to Binary Coded Encoder have inputs and outputs.

Ans  of 1.10;4
K244
X 3.2,10
75 4.4:10

Question ID : 275228134 ]

Q.20 A free list contains three memory areas of sizes 6 KB, 15 KB and 12 KB. The next three
memory requests are for 10 KB, 2 KB and 14 KB. Which of the memory allocation
strategy that would be able to accommodate all the three requests?

Ans X" 1. Next Fit

/X 2. First Fit

75 3. Worst Fit

of 4. BestFit

Question ID : 275228124 ]

Section : Discipline3

Q.1 What is the full form of IDE in visual basic?

Ans X 1. Integration development environment
x 2. Integrated drive electronics
X 3. Integrated development electronics

J 4. Integrated development environment

Question ID : 275228151

Q.2 Which is not an acceptable control name in visual basic?
Ans X" 1 btnCalc

J 2. txtFirst + Last Name

x 3. txtAge

/<X 4. IbIDistance

Question ID : 275228150 ]
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Q.3 When the rules of the programing language are not followed it gives errors.
Ans x 1. Logical

( 2. Syntax
x 3. Printing
x 4. run time

Question ID : 275228146 ]

Q.4 Which one of the following is correct regarding Programming Languages?

Ans x 1. Procedural programming — Functions
x 2. Logical Programming — Function
J 3. Object-oriented programming — Objects

x 4. Functional programming — Logical unit

Question ID : 275228154

Q.5 What is the meaning of >>> in Python Language?

Ans ( 1. Interpreter is ready to take instruction
75 2. 3 left shift
#< 3. 3right shift

x 4. Compiler is ready to take instruction

Question ID : 275228162 ]
Q.6 Which symbol is used to represent an input/output operation in the flow chart?
Ans " 1. Oval
J 2. Parallelogram
/X 3.Circle
X 4. Rectangle
Question ID : 275228144 ]

Q.7 In a modular programming approach problem is further divided into
Ans J 1. modules

x 2. solution
x 3. object

x 4. question

Question ID : 275228155
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Q.8 How the object interact with each other in object oriented programming?
Ans J 1. By sending message

x 2. By ringing

x 3. By text

x 4. By transmitting signal

Question ID : 275228157 ]

Q.9 Which of the following statement(s) is/are true about Break All Visual Basic toolbar
buttons?

I. Delete the selected item
Il. Pauses execution of your program

Ans X" 1 Neither | nor Il

o 2. oniy i

75 3.Bothland Il

75 4.0nly|

Question ID : 275228149 ]

Q.10 Which of the following is NOT an object oriented feature?
Ans x 1. Inheritance

J 2. Abduction
x 3. Polymorphism

x 4. Abstraction

Question ID : 275228160

Q.11 What is the relation between object and class in an object oriented programming?
Ans x 1. Object is scope of class

x 2. Object is type of class
J 3. Object is instance of class

x 4. Object is keyword of class

Question ID : 275228158 ]
Q.12 What is the shortcut key of Step Over in Visual Basic?
Ans X 1.F6
K 2.F9
X 3. F11
o 4 F10
Question ID : 275228152 ]
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Ans

Q.13 Match the following window of visual basic with their function.

1 Immediate i It Display the properties
window for the current object
2 s ii | It design the form

window

Projectexploes It list the forms and

3 . iii | modules for the current
windows :

projects

% | Design window 5 It g?'ve current values of
variables

K1, 2, 3, 4 —iv

W 2 1-iv,2-i, 3—iii, 4 —ii

X310, 2 i, 3—ii, 4 —iv

2541 —iv, 2 i, 3—ii, 4— i

Question ID : 275228153

Ans

Q.14 What does the Form.StartPosition property represent in Visual Basic?

« 1. It determines the initial position of the form
x 2. It determine the end position of the form
x 3. It determines the next position of the form

x 4. It determines the current position of the form

Question ID : 275228148

Ans

Q.15 Which of the following is NOT an attribute of good programming languages?

& 1. Non portability
x 2. Support for abstraction
X 3. Ease of program verification

x 4. Clarity, simplicity and unity

Question ID : 275228143

Ans

Q.16 Which of the following statement(s) is/are correct about modular programming

approach?

I. Ease of use
Il. Reusability

75 1. 0nly

75 2. Neither I nor Il

75 3.0nly Il

of 4. Both1and II

Question ID : 275228156
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Q.17 The speed of supercomputer is measured in

Ans x 1. Floating — point operations per minute
x 2. Floating — point operations per day
x 3. Floating — point operations per hour

J 4. Floating — point operations per second

Question ID : 275228147 ]

Q.18 In Object Oriented Programming, when a new class created from an existing class
using principle of inheritance, then the new class is known as

Ans x 1. Member class
J 2. Derived class
x 3. New class
x 4. Child class

Question ID : 275228159 ]

Q.19 Which one is NOT a feature of Python language?
Ans X" 1. High level language

75 2. Portable
x 3. Interpreted language

J 4. Case insensitive

Question ID : 275228161

= =
Q.20 Which of the following is false regarding the machine language?

Ans J 1. It easier to modify
x 2. Itis machine dependent
x 3. Itis made up of 1's and 0’s

x 4. It is difficult to program

Question ID : 275228145 ]

Section : Discipline4

Q.1 What is the output of the code in Python Language:
for num in range (3):

if num > 0:
print (num*100)

Ans " 1,100, 100, 100
W 2. 100, 200, 300
#< 3.300, 300, 300
#< 4.300, 200, 100

Question ID : 275228168 ]
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Q.2 Inorder and postorder traversal of a binary tree are given.

In:E, I,C,F,B,G,D,J,H, K
Post: |, E,F,C,G,J,K,H,D, B

What is the preorder traversal of the binary tree?
Ans X' 1.B,F1,EC,D,G,H,JK
o 2.B,C.E |LF,D,GH,JK
/X 3.B,C,E,I,F,D,G, H,K,J
/X 4.B,C,E,F,G,H,KD,J,I

Question ID : 275228182

Q.3 Consider a n x n tri-diagonal sparse matrix A. Suppose we want to store sparse A in a

one-dimensional array. What is the index of the (i.j)th element of A in the one-
dimensional array.

LU SERES
o 22+j-2
< 3.2i+2]
Ko4ai+i-1

Question ID : 275228177 ]

Q.4 A complete binary tree T have n leaf nodes. What is the number of nodes with degree
of 2 in tree T?

Ans X" 1n
X 2.n2
W 3n-1
X 4.2n

Question ID : 275228170 ]

Q.5 What is output of the code in Python Language:

>>> str1 = ‘All the Best’
>>> str1[-3]

Ans X 1B
vae
Koar
X4

Question ID : 275228169 ]
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Q.6 The numbers 70, 50, 10, 80, 30, 60, 100, 90, 40, 20 are inserted in the given order in to a
binary search tree. What is the in-order traversal sequence of the resultant binary
search tree?

Ans X 1.100, 90, 80, 70, 60, 50, 40, 30, 20, 10
( 2. 10, 20, 30, 40, 50, 60, 70, 80, 90, 100
X 3. 10, 30, 50, 70, 90, 20, 40, 60, 80, 100
x 4.70, 50, 10, 80, 30, 60, 100, 90, 40, 20

Question ID : 275228173

Q.7 How many different binary search trees can be constructed with 6 different nodes?

Ans X' 1 32
X 2.128
W 3132
/X 4.64

Question ID : 275228178 ]

Q.8 What is balance factor of an AVL tree?
Ans X1 |h(TR) < 1

K 2. h(Th s 1
o 3. Ih(Th) - h(TR) 51
25 4 h(h + h(mR) <1

Question ID : 275228174 ]

Q.9 What is the average nhumber of comparisons required in sequential search to find an
element?

Ans x 1. n2

v (n+1)
B

x3.n

X 4 n(n+1)
2

Question ID : 275228175 ]

Q.10 Consider an array A[2:8,—4:1, 6 : 10]. Base address of array A is = 400 and size of
each element = 2 word per memory cell. What is the address of A[5, —1, 8] in row major
form?

Ans X" 1 614
/X 2.630
75 3.626
of 4628

Question ID : 275228181 ]
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Q.11 What is the value of the ((Start — Next) — Next) — Info in the given list?

Start—p—=> |125| —1—=> (140] —1—=> [128] —=> |130] %

Ans " 1130
5 2,125
o 3128
75 4.140

Question ID : 275228171 ]

Q.12 The given declaration statement in Python Language belongs to which data type?

>>>Student ={*'SUBJECT’ : ‘Compiler’, ‘Marks’ : ‘50°, ‘Grade’ : ‘C’}
Ans X" 1. Numbers

X 2. Sets
“ 3. Dictionary
X 4. Sequence

Question ID : 275228163 ]

Q.13 What is responsibility of event queue in event driven programming?
Ans x 1. Change the event

« 2. Make a sequence in which event is executed
x 3. Create new event

x 4. Delete the event

Question ID : 275228167 ]

Q.14 Match the following with respect to Event Driven Programming.

. Perform
1 | Event a i
said event
ii Event b User
listener interaction
... | Event Eveqt
111 ¢ | monitored
handler
by code
Ans X 1. i, ii-a, iii-b
W 2.ib,ii-a, iii-c
75 3.i-a, ii-b, iii-c
7< 4.ib, ii-c, iii-a

Question ID : 275228166
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Q.15 Consider a sorted array of 10,00,000 elements. What is the maximum number of
comparison required to find the location an item using binary search?

Ans X 1.6
X 2,21
K37
o 4.2

Question ID : 275228179 ]

Q.16 Which statement is true about condition of overflow in the circular Queue?

I. Front =1 and Rear=N
Il. Front = Rear + 1

Ans X" 1 Neither | nor Il

o 2. Both land I

/5 3.0nlyl
75 4.0nly i

Question ID : 275228172 ]

Q.17 Which statement(s) is/are NOT true about the variables in Python Language:

I. Values of every variable can be changed once a variable has been created and
assigned value.
Il. Assignment statement is used to create a new variable and assign value.

Ans " 1. Neither | nor I

75 2. only i
“ 3. Only |

75 4.Bothland Il

Question ID : 275228164 ]

Q.18 Using division method [n(k) = k mod m)], at which position 177 and 197 key values are
stored in hash table when the size of hash table is 57?

Ans X" 17,27
o 262
X 3.27,7
75 4.26,6

Question ID : 275228180 ]
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Q.19 Arrange the following complexity of the algorithm in ascending order.

0(2").0(n).O(log,n).0(nlog,n).0(n’)

X 1. 0(n),0(log,n).0(nlog,n).0(n?).0(2")
X 2. 0(n).0(n*).0(log,n).0(nlog,n).0(2")
v 3 O(log;n).0(n).0(nlog,n).0(n?).0(2")
X 4 O(log,n).0(nlog,n).0(n).0(n?).0(27)

Ans

Question ID : 275228176 ]

Q.20 What is the output of this code in Python Language:
>>>x =125
>>>y=13

>>>x /=y
>>> X

Ans & 1.10
2o
/X 3.125/13
/X 4.9.62

Question ID : 275228165

Section : Discipline5

Q.1 Which of the following is specified by function prototype in C++?
I. Return Type

Il. Function name
lll. Number and types of argument

Ans X" 1. |and Il

X 2. 11and i
o 3.1 1tand
X 4 land i

Question ID : 275228190 ]

Q.2 In C++, “Out-of-range-index” belong to
interrupts are called exceptions.

type exception while keyboard

Ans x 1. asynchronous; synchronous
x 2. synchronous; synchronous
J 3. synchronous; asynchronous

x 4. asynchronous; asynchronous

Question ID : 275228197 ]
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Q.3 In C++, operator *>>' is used along with object cin for reading input is known as

Ans X 1. getin
o 2. extraction
75 3. output
/X 4. putto

Question ID : 275228187 ]

Q.4 Which statement is NOT correct regarding ternary operator in C++?

Ans x 1. It is also known as conditional operator
X 2. Its symbol is ?:
J 3. Operator overloading is possible in it

#< 4. 1tis similar to if else

Question ID : 275228193 ]

Q.5 What is output of the given code?
void main ()
{

int a=3, b, *p,**q;
p = &a:

q=&p:

b=2 *(*$q+ *P}:
cout << b;

}

Ans  of 1 12
X 23
/X 3.24
/X 4.18

Question ID : 275228198 ]

Q.6 What is the complexity of selection sort algorithms?
Ans " 1.0(2n)

75 2. O(nlog,n)

/X 3.0(n)

o 4002

Question ID : 275228184
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Q.7 Which of the following statement is NOT correct regarding Virtual function in C++?

I. It must be a member of some class.
Il. It is accessed by using object points.

Ans X" 1. Only|

#< 2. only i

o 3. Neither I nor Il

75 4.Bothland Il
Question ID : 275228200 ]
Q.8 Match the following.
Allows a function or
y b operator to be given
i) | Overridin 1
® b more than one
definition
) | Oveitoudin 5 A function that is called
g to deallocate memory
The ability to change
(iii) | Destructor 3 | the definition ofan
inherited method
Ans o 103, ii—1,iii~2
< 2.i-2,ii =3, i — 1
X 3.0-3, i =2, i~ 1
5 4i—1,0i=3,ii-2
Question ID : 275228195 ]

Q.9 Two way merge sort algorithm is used to sort the following elements in ascending
order.
200, 470, 150, 80, 90, 40, 400, 300, 120, 70.
What is the order of these elements after second pass of the merge sort algorithm?

Ans X" 1.40, 70, 80, 90, 120, 150, 200, 300, 400, 470
o 2.80, 150, 200, 470, 40, 90, 300, 400, 70, 120
#< 3.40, 80, 90, 150, 200, 300, 400, 470, 70, 120

75 4. 200, 470, 80, 150, 40, 90, 300, 400, 70, 120

Question ID : 275228183
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Ans X" 1 Both | and Il

75 2. only i
o 3. Only|

#< 4. Neither I nor Il

Q.10 Which statement is correct about static member function in C++?

I. It can access to only other static members declared in the same class.
Il. It cannot be called using the class name (instead of its objects)

Question ID : 275228192

program?
Ans X 1. <string.h>
& 2. <jostream.h>
/< 3. <assert.h>
o 4 <ctype.h>

Q.11 To convert the case of letters, which header file in C++ is to be included in the

Question ID : 275228185

Ans «1_2

Q.12 In C++, bool data type is used to hold how many values?

Question ID : 275228189

Q.13 Match the following file stream classes in C++ with its functions.

Provides support for
1 | fstream base (i) | simultaneous inputand
output operation
5 | (ii) PI‘UVIqES output
operation
.... | Provides operations
i fstre
S (1) common to file streams
4 | fstream (iv) | Provides input operation

Ans X 11 —iv, 2 —iii, 3—i, 4 i

K 2,10, 2—ii, 3—iv, 4 —iii
of 3. 1-ii, 2 v, 3, 4 i
K410, 2—ii, 3—iv, 4—ii

Question ID : 275228196
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Q.14 What is the symbol and associativity of the assignment operator in C++?
Ans X" 1 == leftto right

x 2. =, left to right

J 3. =, right to left

75 4.®, right to left

Question ID : 275228191 ]

Q.15 In C++, namespace defines a for the identifiers that are used in a program.
Ans X 1. standard

J 2. scope
x 3. syntax
x 4. size

Question ID : 275228186

Q.16 What is the output of code?

void main ()
{
int x =33,y,7;
Z=X++ + 17,
Y=1+z — S
cout << "X" << X << "y" L y << "2" << Z;

3

Ans X' 1. x=34y=162=50
o 2.x=35y=162=51
X 3.x=34y=172="51
X 4.x=35y=172z="51

Question ID : 275228199 ]

Q.17 Which of the following is NOT a part of Data Definitions Language in Relational
Database Management System?

Ans X" 1 Drop table
( 2. Insert table
x 3. Create table

/X 4. Alter table

Question ID : 275228202 ]
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Q.18 Which of the following statement(s) is/are correct regarding void keyword in C++?

I. To specify the return type of a function when it is not returning any value.
Il. To indicate an empty argument list to a function.

Ans " 1 Only I

75 2. 0nly|

75 3. Neither I nor Il

o 4. Both land I

Question ID : 275228188

structure are

Ans x 1. private; private
x 2. public; private
x 3. public; public

J 4. private; public

Q.19 By default in C++, the member of a class are , while, by default the member of

Question ID : 275228194

Q.20 TR P A (THRIEA) H S5 TR T 872
Ans X" 1 s U QT arferl, fores e fafe r # 99 A gid 7, 3T Uikl &Y dctae
FXA & g ITANT frd ST aTel U SRR g1
25 2. SiieT Ue U1 SHTIRRM & Sil dlfcissT 1 Tohd Ufadd UR I Srall § 191 U Uohel T
drerar gl

T T 3 ITH IS B YR TR TSI B &b oTGpal STdhe
75 4. 9137 U SRR & o] SUANT &l Sav-SeriSel & Bl TJad B3 o o foad
Sisik

W 3. 575 U SRR & et SuanT & a1 31 § sifdies arferTslt Fyifat g s

Question ID : 275228201

Section : Discipline6

Q.1 Each Microsoft Excel file is also known as
Ans X" 1. Sheet

o 2. Workbook

x 3. Document

75 4. Slide

Question ID : 275228212
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Q.2 Which of the following statement(s) is/are correct regarding <title> tag in HTML?

I. This tag always goes outside to the <head> tag.
II. This tag is used to indicate the title of the webpage.
IIT. Tt is also used by search engines.

Ans X" 1 Only Il

25 2.1, land I
o 3 land
X 41andll
Question ID : 275228221
Q.3 The selected text’s font in Microsoft Word document will on pressing “Ctrl +]1”
keys.

Ans X" 1. Decrease by 2 points
J 2. Increase by 1 points
X 3. Decrease by 1 points

X 4. Increase by 2 points

Question ID : 275228215

Q.4 Write the name of the relational algebra operation as per the given order of their
notation.

nX,s
Ans x 1. Intersection join, outer join, select
x 2. projection, Cartesian product, division
J 3. Projection, Cartesian product, select

x 4. Projection, outer join, select

Question ID : 275228204 ]
Q.5 What is tag in HTML?
Ans J 1. It contains information about the webpage.
X 2. It contains the number of nested tags in the page.
X 3. It contains the address of the webpage.
X 4. It contains the number of tags in the web page.
Question ID : 275228222 ]
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Q.6 Consider the following relation schema of students.
STUDENT (Rollno, Name, DOB, Marks, Gender)

Which of the given query is equivalent to this query in English? “Find the tuples of
student having marks above 80”.

Ans X" 1. Myjarks<so (STUDENT)
W 2. Syars>80 (STUDENT)
75 3. Smarks<so (STUDENT)

#< 4. Myarks>g0 (STUDENT)

Question ID : 275228205 ]
Q.7 A collection of web pages is known as
Ans X" 1. Web world
J 2. website
75 3. Web tool
x 4. web server
Question ID : 275228218 ]

Q.8 What is the cardinality and degree of relation having 50 Tuples and 20 Attributes?
Ans X 1. Cardinality — 50 Degree — 50

75 2. Cardinality — 70 Degree — 30
X 3. Cardinality — 20 Degree — 50

o 4. Cardinality— 50 Degree — 20

Question ID : 275228209

Q.9 Which of the following is incorrect regarding user-friendly website?
Ans x 1. It should be easily accessible

o 2. It should be Cluttered
x 3. It should have faster loading time

x 4. It should have browser consistency

Question ID : 275228219 ]

Q.10 Which of the following statement is a part of Data Manipulative Language in Structured
Query Language?

Ans J 1. Delete

x 2. Paste
x 3. Copy

/X 4. Alter table

Question ID : 275228208 ]
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Q.11 Which of the following statement(s) is/are correct regarding COUNT functions in
Structured Query Language of Relational Database Management System?

I. COUNT(*) is used to count the number of values in a column.
Il. COUNT() is used to count the number of rows of the query result.

Ans X 1. Only Il

o 2. Neither I nor Il

75 3.0nly |

/X 4.Bothland Il

Question ID : 275228210 ]

Q.12 Which of the following statement(s) is/are correct regarding Structured Query
Language(SQL)?

I. The datatype FLOAT can hold numbers with decimal points.
Il. The datatype BIGINT occupies 16 bytes.

Ans X" 1. Neither | nor Ii

/5 2.Bothland Il

75 3.0nly Il
o 4. 0nyi

Question ID : 275228207 ]

Q.13 In Microsoft PowerPoint, background image can be added for all the slides by editing
which slide?

Ans  of 1. Slide Master
/X 2. Any slide
/5 3. Last Slide
/X 4. First Slide

Question ID : 275228217 ]

Q.14 Which key open a Goto window in Microsoft Excel?
Ans X" 1 Alt+G

/< 2.shift+ G

of 3.ci+G
/< 4.Tab+G

Question ID : 275228216 ]

Q.15 Which of the following is false with reference to static website?

Ans J 1. Content change at runtime
x 2. No interaction
X 3. Same content is loaded everytime the page is loaded

x 4. Itis loaded at a faster speed

Question ID : 275228220
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Q.16 Match the following formal relational term with informal equivalents.

i | Relation 1 |Row

i1 | Tuple 2 | Value
iii | Attribute 3 | Table
iv | Domain 4 | Column

Ans  off 103 i1, iii-4, iv-2

X 2,03, ii-4, i1, iv-2
75 3.4, i3, ii-2, iv-1
K400, 0i-3, ii-2, iv-4

Question ID : 275228203

Q.17 Which of the following is the way to break a page in Microsoft Word?
Ans J 1. Pressing “Ctrl + Enter”

X 2. Pressing “Ctrl + Page Down”
x 3. Double Clicking at the beginning of the page

X 4. Double Clicking at the end of the page

Question ID : 275228213

document?
Ans X" 1 Ctrl+J

o 2.cri+R
/X 3.cti+E
X 4.ct+L

Q.18 What is the shortcut key for right alignment of the paragraph in a Microsoft Word

Question ID : 275228211

I. Pictures and charts
Il. Sound effect
lll. Tables

Ans X" 1 lland Il

o 2.1 and
25 3.1and I
X 4 land i

Q.19 Microsoft PowerPoint helps to enhance our presentation with

Question ID : 275228214
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Q.20 What is Denormalization in Relational Database Management System?

Ans x 1. Denormalization is used to decrease rredundancy in database.
x 2. Denormalization is used to decrease the dependence on normal forms.
x 3. Denormalization is used to develop a new schema in database.

J 4. Denormalization is the process of increasing redundancy to improve performance.

Question ID : 275228206 ]

Section : Discipline7

Q.1 %ﬁuﬁﬁwaﬁ”mﬁﬁaaﬁvmmmz%ﬁmaﬁww
?

Ans X' 1439
X 2.55%a
W 3633
X 4333

Question ID : 275228227 ]

Q.2 Which of the following statement(s) is/are true regarding Data Communication?

I. Half duplex communication is multidirectional communication.
Il. Full duplex communication is bidirectional communication.

Ans  of 1 Only |l

#< 2.Bothland Il
75 3. Neither I nor Il

75 4.0nly|

Question ID : 275228234 ]

Q.3 Which of the following is not a type of Network topology?
Ans ( 1. Singleton Network

x 2. Star Network
X 3. Ring Network

#5 4. Hybrid Network

Question ID : 275228232

Q.4 Quicksort algorithm is based on which algorithm design technique?
Ans x 1. Greedy Algorithm

x 2. Brute — Force
x 3. Dynamic programing

J 4. Divide and Conquer

Question ID : 275228237 ]
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Q.5 What is the resolution of 2 inch x 2 inch image which has 512 x 512 pixels?
Ans J 1. 256 pixels per inch

75 2.2048 pixels per inch
x 3. 512 pixels per inch

x 4. 128 pixels per inch

Question ID : 275228228

Q.6 Which of the following is Not a NP Complete problem?
Ans X 1. The Clique problem

J 2. Shortest Path Problem
x 3. Hamiltonian-Cycle problem

x 4. The Travelling Salesman Problem

Question ID : 275228240

Q.7 If the system have resolution of 640 x 480, then what is the size of the refresh buffer (in
Kilo bytes) if the system store 14 bits per pixel?

Ans X 1. 6400 Kilo bytes (approximately)
75 2.5400 Kilo bytes (approximately)
X 3. 7400 Kilo bytes (approximately)

J 4. 4400 Kilo bytes (approximately)

Question ID : 275228231

Q.8 3f} quf 71 § 'n’ 1S §, @ 39 e fFAR g2

Ans
(n-1)
< 5
n(n-1)
2

v &)

n

3. =
2l 2
n

) (n—1)
xo 2270

Question ID : 275228236
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Q.9 Which of the following statement(s) is/are true regarding OSl layers in computer
networks?

I. The session layer provides means of establishing, maintaining and terminating a
session between two end users.

Il. Data Link layer sets up a logical path between the source and destination computer
of the network.

Ans " 1 Only I

o 2 ony |

75 3.Bothland Il

#< 4. Neither I nor Il

Question ID : 275228233 ]

Q.10 If Multiple bits per pixel are used to store an image, then the frame buffer is known as

Ans x 1. bit map

x 2. binary map
J 3. pix map

x 4. Image map

Question ID : 275228226 ]
Q.11 Which of the following statement is false about a B-tree of order M?
Ans J 1. Leaf nodes are not at the same level.
X 2
The internal nodes except the root have atleast E child nodes.

-
X 3. The root has at least two child nodes and at mostiM child nodes.

#5 4. Anode s full if it has (M — 1) keys.

Question ID : 275228238

Q.12 Which of the following is not the file formats of graphics?
Ans X 1 JPG

X 2.GF
75 3.PNG
o 4. wav
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Q.13 Which of the following statement(s) is/are true regarding switching techniques in Data
communication?

I. In circuit switching a dedicated path is identified between the sender and the
receiver.

Il. In packet switching each information to be transmitted between sender and receiver
is broken down into smaller packets.

Ans  of 1 Bothland Il

75 2.0nly|

75 3. Neither I nor Il

75 4.0nly i
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Q.14 Memory buffer which stores the image definition is known as
Ans X 1. Picture Buffer

/5 2. Pixel Buffer
X 3. Graphic Buffer

J 4. Frame Buffer

Question ID : 275228229

Q.15 Which of the following statement(s) is/are correct about red-black binary tree?
I. Every node is either red or black.

Il. Every leaf node is red.
lll. When a node is red and both its children are black.

Ans " 1 llland Il

o 2. 1and i
X 3.1andll
5 4., and

Question ID : 275228241

Q.16 What is image map in HTML?

Ans x 1. It contains the number of pixels in the image.
x 2. It is the backup copy of the image.
J 3. Itis a special image in which different area point to different locators on the web.

x 4. It contains the properties of the image.
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Q.17 Consider a max heap, represented by the array:
23,17,14,6,13,10,1,5
If a value 20 is inserted into this heap, then what will be the new max heap
Ans X" 1.23,17, 20, 14, 13, 10, 6, 51
X 2.23,20,17,14,13,10, 6, 5, 1
J 3.23, 20, 14,17, 13,10, 1,5,6

/X 4.23,17,4,6,13,10,1,5, 20
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75 4. 3T TE
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